Stefani Ryan output

A:\>intmanip < c:\temp\p2goodin.txt

 THIS PROGRAM MANIPULATES 3-DIGIT INTEGERS. IT STORES THEM INTO AN ARRAY, SORTS

 THE ARRAY, FINDS THE SMALLEST, LARGEST, AND AVERAGE VALUES, AND ALSO FINDS THE

 POSITION OF THE LARGEST VALUE IN THE ARRAY.

 PLEASE ENTER SEVERAL INTEGERS TO BE EVALUATED.

  CONTENTS OF THE UNSORTED ARRAY:

    |  1  |  2  |  3  |  4  |  5  |  6  |  7  |

 ----------------------------------------------

  1 | 666 | 616 |   0 |   0 |   0 |   0 |   0 |

  2 | 555 | 323 |   0 |   0 |   0 |   0 |   0 |

  3 | 444 | 345 |   0 |   0 |   0 |   0 |   0 |

  4 | 333 | 456 |   0 |   0 |   0 |   0 |   0 |

  5 | 222 | 987 |   0 |   0 |   0 |   0 |   0 |

 ----------------------------------------------

  THE POSITION OF THE LARGEST VALUE IN THE ARRAY IS ROW 5, COLUMN 2.

  CONTENTS OF THE SORTED ARRAY:

    |  1  |  2  |  3  |  4  |  5  |  6  |  7  |

 ----------------------------------------------

  1 | 222 | 323 |   0 |   0 |   0 |   0 |   0 |

  2 | 333 | 345 |   0 |   0 |   0 |   0 |   0 |

  3 | 444 | 456 |   0 |   0 |   0 |   0 |   0 |

  4 | 555 | 616 |   0 |   0 |   0 |   0 |   0 |

  5 | 666 | 987 |   0 |   0 |   0 |   0 |   0 |

 ----------------------------------------------

  THE POSITION OF THE LARGEST VALUE IN THE ARRAY IS ROW 5, COLUMN 2.

  THE MAXIMUM VALUE IN THE ARRAY IS 987.

  THE MINIMUM VALUE IN THE ARRAY IS   0.

  THE AVERAGE VALUE IN THE ARRAY IS 141.34.

 THE PROGRAM HAS COMPLETED. PLEASE CLOSE THE DOS WINDOW.

A:\>intmanip < c:\temp\p2bad.txt

 THIS PROGRAM MANIPULATES 3-DIGIT INTEGERS. IT STORES THEM INTO AN ARRAY, SORTS

 THE ARRAY, FINDS THE SMALLEST, LARGEST, AND AVERAGE VALUES, AND ALSO FINDS THE

 POSITION OF THE LARGEST VALUE IN THE ARRAY.

 PLEASE ENTER SEVERAL INTEGERS TO BE EVALUATED.

A:\>intmanip < c:\temp\p2full.txt

 THIS PROGRAM MANIPULATES 3-DIGIT INTEGERS. IT STORES THEM INTO AN ARRAY, SORTS

 THE ARRAY, FINDS THE SMALLEST, LARGEST, AND AVERAGE VALUES, AND ALSO FINDS THE

 POSITION OF THE LARGEST VALUE IN THE ARRAY.

 PLEASE ENTER SEVERAL INTEGERS TO BE EVALUATED.

  CONTENTS OF THE UNSORTED ARRAY:

    |  1  |  2  |  3  |  4  |  5  |  6  |  7  |

 ----------------------------------------------

  1 | 666 | 616 | -12 | 111 | 212 | 987 |   0 |

  2 | 555 | 323 | -35 | 222 | 434 | 212 |   0 |

  3 | 444 | 345 | -42 | 333 | 454 | 432 |   0 |

  4 | 333 | 456 | -91 | 444 | 567 | 345 |   0 |

  5 | 222 | 987 | -23 | 555 | 456 | 798 |   0 |

 ----------------------------------------------

  THE POSITION OF THE LARGEST VALUE IN THE ARRAY IS ROW 5, COLUMN 2.

  CONTENTS OF THE SORTED ARRAY:

    |  1  |  2  |  3  |  4  |  5  |  6  |  7  |

 ----------------------------------------------

  1 | 222 | 323 | -91 | 111 | 212 | 212 |   0 |

  2 | 333 | 345 | -42 | 222 | 434 | 345 |   0 |

  3 | 444 | 456 | -35 | 333 | 454 | 432 |   0 |

  4 | 555 | 616 | -23 | 444 | 456 | 798 |   0 |

  5 | 666 | 987 | -12 | 555 | 567 | 987 |   0 |

 ----------------------------------------------

  THE POSITION OF THE LARGEST VALUE IN THE ARRAY IS ROW 5, COLUMN 2.

  THE MAXIMUM VALUE IN THE ARRAY IS 987.

  THE MINIMUM VALUE IN THE ARRAY IS -91.

  THE AVERAGE VALUE IN THE ARRAY IS 323.03.

 THE PROGRAM HAS COMPLETED. PLEASE CLOSE THE DOS WINDOW.

A:\>
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